

# COUNTY OF RIVERSIDE

# TRANSPORTATION AND LAND MANAGEMENT AGENCY



# **Transportation Department**

April 30, 2014

Rodrigo Medina, President R-JS General Construction 19624 El Rivino Road Riverside. CA 92509

RE: Notice of Acceptance of Proposal and Intent to Award

Whittier Avenue Sidewalk and Resurfacing Project, Yale Street to Cornell Street,

In the Community of East Hemet

Project No. C2-0142, C4-0080, and Federal Aid No. STRSL-5956(212)

Dear Mr. Medina:

Please consider this as the County of Riverside's notice to your firm that it accepts your bid received April 2, 2014 for the referenced project, and that the County of Riverside intends to award the construction contract to your firm. The total contract amount is \$845,700.00.

Attached for execution, by your company, are four sets of the construction contract, a Performance Bond form, and a Payment Bond form.

In accordance with Section 3-1.02 "Award of Contract" of the bid documents, you are directed to return to this office, within 10 working days of the date of this letter, four (4) sets of executed original construction contracts, two (2) original Performance Bonds, two (2) original Payment Bonds, and one (1) complete insurance certificate package that conforms to the terms of the bid documents.

Insurance documentation shall include additional ensured endorsements for General Liability policies, Automobile Liability policies, and Excess Liability policies. Additionally, a Waiver of Subrogation shall be furnished for the Worker's compensation policy. Attached to this letter is a Brief List of Contract Insurance Requirements.

In addition to the requirements of Section 3-1.05 "Insurance and Hold Harmless" of contract documents, the Contractor's Certificate of Insurance and endorsements for the project shall name the following listed entity(s) as additional insured under the Contractor's general liability, excess liability, and auto liability insurance policies, and each listed entity shall be named on the Waiver of Subrogation for the Contractor's Workers Compensation policy:

1. Lake Hemet Water District, (LHWD) its directors, officers, elected and appointed officials, employees, agents, and representatives.

Each of the above listed entity(s) shall also be held harmless, in accordance with the requirements of Section 3-1.05, "Insurance and Hold Harmless" of the contract documents.

Also, please provide us with a Corporate Resolution authorizing the signatory of the contract to sign such documents on behalf of your corporation.

Failure to execute the documents and submit all of the above listed documents to the Transportation Department within the specified time may cause the County of Riverside to consider your firm as not being in compliance with the bid documents, resulting in rescission of the Notice of Acceptance and Intent to Award, and your bid bond being forfeited on that basis.

Following full execution and award of the contract by the County of Riverside Board of Supervisors, one original set of the contract and bonds will be returned to you for your file.

I have attached a copy of the summary of bids for your use and reference.

If you have any questions or need additional information, please contact me at your convenience at (951) 955-1537 or Saleem Baig at (951) 955-1682.

Sincerely,

Joel Jimenez, P.E. Senior Civil Engineer Contracts / Bidding Unit

JRJ:jrj:sb

Attachments:

Contracts, 4 sets

Performance Bond form with each Contract Payment Bond form with each Contract Brief List of Contract Insurance Requirements

Summary of Bids

CC:

Khalid Nasim Mike Mueting Chronological File

Construction/Inspection File with Attachments

Project File

County of Riverside Contract No.	
----------------------------------	--

### Contract

Whittier Avenue
Sidewalk and Resurfacing Project
Yale Street to Cornell Street
in the Community of East Hemet
Project No. C2-0142 and C4-0080
Federal Aid No. SRTSL-5956 (212)

THIS CONTRACT, made and concluded, in duplicate as of the date set forth below, between the County of Riverside, party of the first part, and **R-JS General Construction** Contractor, party of the second part.

#### **ARTICLE I:**

WITNESSETH, that for and in consideration of the payments and agreements hereinafter mentioned, to be made and performed by the said party of the first part, and under the conditions expressed in the two bonds, bearing even date with these presents, and hereunto annexed, the said party of the second part agrees with the said party of the first part, at his own proper cost and expense, to do all the work and furnish all the materials, except such as are mentioned in the specifications to be furnished by said party of the first part, necessary to construct and complete in a good, workmanlike and substantial manner and to the satisfaction of the County of Riverside, the work described in the Special Provisions and the Project Plans described below, including any addenda No. 1 issued thereto, and also in conformance with the California Department of Transportation Standard Plans dated May 2006, the Standard Specifications dated May 2006 and the Labor Surcharge and Equipment Rental Rates in effect on the date the work is accomplished, which said Special Provisions, Project Plans, Standard Plans, Standard Specifications, and Labor Surcharge and Equipment Rental Rates are hereby specially referred to and by such reference made a part hereof.

The work to be done is shown on Plans entitled Whittier Avenue Sidewalk and Resurfacing Project, Yale Street to Cornell Street in the Community of East Hemet, Project No. C2-0142, C4-0080, Federal Aid No. SRTSL-5956(212), Plan number 958-M, approved February 7, 2014, on file with the County Surveyor, which said project plans are hereby made a part of this Contract.

### **ARTICLE II:**

The said party of the first part hereby promises and agrees with the said Contractor to employ, and does hereby employ, the said Contractor to provide the materials and to do the work according to the terms and conditions herein contained and referred to, for the prices hereinafter set forth, and hereby contracts to pay the same at the time, in the manner and upon the conditions herein set forth; and the said parties for themselves, their heirs, executors, administrators, successors and assigns, do hereby agree to the full performance of the covenants herein contained.

### ARTICLE III:

The State general prevailing wage rates determined by the Director of Industrial Relations are hereby made a part of this contract. It is further expressly agreed by and between the parties hereto that should there be any conflict between the terms of this instrument and the bid or proposal of said Contractor, then this instrument shall control and nothing herein shall be considered as an acceptance of the said terms of said proposal conflicting herewith.

### **ARTICLE IV:**

By my signature hereunder, as Contractor, I certify that I am aware of the provisions of Section 3700 of the Labor Code which require every employer to be insured against liability for worker's compensation or to undertake self insurance in conformance with the provisions of that code, and I will comply with such provisions before commencing the performance of the work of this contract.

### **ARTICLE V:**

And the said Contractor agrees to receive and accept the following prices as full compensation for furnishing all materials and for doing all the work contemplated and embraced in this Contract; also for all loss or damage, arising out of the nature of the work aforesaid, or from the action of the elements, or from any unforeseen difficulties or obstructions which may arise or be encountered in the prosecution of the work until its acceptance by the County of Riverside, and for all risks of every description connected with the work; also for all expenses incurred by or in consequence of the suspension or discontinuance of work and for well and faithfully completing the work, and the whole thereof, in the manner and according to the plans and specifications, and the requirements of the Engineer under them, to wit:

# Whittier Avenue Sidewalk and Resurfacing Project Yale Street to Cornell Street in the Community of East Hemet Project No. C2-0142 and C4-0080 Federal Aid No. SRTSL-5956 (212)

# **Contract**

ITEM No.	ITEM CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
1	066102	DUST ABATEMENT	LS	1	2,500.00	2,500.00
2	074020	WATER POLLUTION CONTROL	LS	1	3,500.00	3,500.00
3	120100	TRAFFIC CONTROL SYSTEM	LS	1	6,000.00	6,000.00
4	170101	DEVELOP WATER SUPPLY	LS	1	2,800.00	2,800.00
5	160101	CLEARING AND GRUBBING	LS	1	8,000.00	8,000.00
6	152370	RELOCATE MAILBOX	EA	24	80.00	1,920.00
7	152379	RELOCATE FENCE AND GATE	LF	266	35.00	9,310.00
8	152381	RELOCATE GATE	EA	2	350.00	700.00
9	152390	RELOCATE ROADSIDE SIGN	EA	14	275.00	3,850.00
10	152440	ADJUST MANHOLE TO GRADE	EA	10	850.00	8,500.00
11	160120	REMOVE TREE	EA	6	500.00	3,000.00
12	153103	COLD PLANE ASPHALT CONCRETE PAVEMENT	SQYD	14,130	4.00	56,520.00
13	190101	ROADWAY EXCAVATION	CY	210	35.00	7,350.00
14	260201	CLASS 2 AGGREGATE BASE	CY	150	50.00	7,500.00
15	390130	HOT MIX ASPHALT	TON	2,500	95.00	237,500.00
16	013903	PLACE ASPHALT CONCRETE DIKE (CRS 212) (6")	LF	550	9.00	4,950.00
17	394002	PLACE ASPHALT CONCRETE (MISCELLANEOUS AREA)	SQYD	40	20.00	800.00
18	017305	MINOR CONCRETE (CURB AND GUTTER) (CRS 201)	LF	2,320	35.00	81,200.00
19	017310	MINOR CONCRETE (DRIVEWAY APPROACH) (CRS 207)	SQFT	3,900	8.00	31,200.00
20	731516	MINOR CONCRETE (DRIVEWAY)	SQFT	3,000	6.00	18,000.00
21	017302	MINOR CONCRETE (CROSS-GUTTER) (CRS 209)	SQFT	6,400	5.50	35,200.00
22	017303	MINOR CONCRETE (SPANDREL) (CRS 209)	SQFT	5,400	5.50	29,700.00
23	731521	MINOR CONCRETE (SIDEWALK)	SQFT	8,400	4.50	37,800.00

# **Contract (continued)**

ITEM No.	CODE	ITEM	UNIT	ESTIMATED QUANTITY	ITEM PRICE (IN FIGURES)	TOTAL (IN FIGURES)
	<u> </u>	MINOS CONOSETE AMOSELLANES LIS				
24	731502	MINOR CONCRETE (MISCELLANEOUS CONSTRUCTION)	SQFT	200	4.50	900.00
25	731501	MINOR CONCRETE (MONOLITHIC CURB AT BACK OF WALK)	LF	1,400	9.00	12,600.00
26	017315	MINOR CONCRETE (CURB RAMP) (CRS 403 - CASE A)	EA	2	1,450.00	2,900.00
27	017316	MINOR CONCRETE (CURB RAMP) (CRS 403 - CASE B)	EA	9	1,450.00	13,050.00
28	731623	MINOR CONCRETE (CURB RAMP) (APWA 111-4 CASE D, TYPE 1)	EA	8	1,200.00	9,600.00
29	731656	CURB RAMP DETECTABLE WARNING SURFACE	EA	5	650.00	3,250.00
30	719530	PRIVATE DRAIN THROUGH CURB (CRS 310)	EA	2	50.00	100.00
31	840519	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	LS	1	8,500.00	8,500.00
32	015602	FUNDING AWARENESS SIGN	EA	4	1,500.00	6,000.00
33	760090	MOBILIZATION, DEMOBILIZATION, AND FINAL CLEANUP	LS	1	20,000.00	20,000.00
34	390137	RUBBERIZED HOT MIX ASPHALT (GAP GRADED)	TON	1,800	95.00	171,000.00

PROJECT TOTAL	Eight hundred forty five thousand, seven hundred dollars and zero cents	\$845,700.00
ITEMS 1-34	"WORDS"	

# Whittier Avenue Sidewalk and Resurfacing Project Yale Street to Cornell Street in the Community of East Hemet

# Project No. C2-0142 and C4-0080 Federal Aid No. SRTSL – 5956 (212)

IN WITNESS WHEREOF the parties hereto have executed this Contract as of the date set forth below.

COUNTY OF RIVERSIDE	R-JS GENERAL CONSTRUCTION
BY:	BY:
Chairman, Board of Supervisors	
DATED:	TITLE:(If Corporation, affix Seal)
ATTEST:	ATTEST:
Kecia Harper-Ihem, Clerk of the Board	
BY:	TITLE:
Deputy	Licensed in accordance with an act providing for the registration of Contractors,
	License No.
	Federal Employer Identification Number:
BY	
BY	"Corporation" (Seal)

# **Performance Bond**

# Recitals:

RI	<b>-JS General Construction</b> (Contractor) has en IVERSIDE (County) for construction of public w	ork known as Whittier Avenue Sidewalk and
	esurfacing Project, Yale Street to Cornell Street 2-0142, C4-0080, Federal Aid No. SRTSL-5956	
2. $\frac{1}{\text{is t}}$	the Surety under this Bond.	corporation (Surety),
Agree	ement:	
	Contractor as Principal and Surety as Surety, joint ty, as obligee, as follows:	y and severally agree, state, and are bound unto
1.	The amount of the obligation of this Bond is 1009 \$845,700.00 (Eight hundred forty five thousand inures to the benefit of County.	
2.	This Bond is exonerated by Contractor doing al conformance with the Contract Documents for the effect for the recovery of loss, damage and expens so act. All of said Contract Documents are incor-	is project, otherwise it remains in full force and e of County resulting from failure of Contractor to
3.	This obligation is binding on our successors and	assigns.
	For value received, Surety stipulates and agrees Contractor, alteration or addition to the terms and work to be performed thereunder shall affect its of matters, except the total contract price cannot be Surety.	I requirements of the Contract Documents or the oligations hereunder and waives notice as to such
THIS B	BOND is executed as of	•
Ву	By _	
Ву	Тур	e Name
Title		Its Attorney in Fact "Surety"
	"Contractor" (Corporate Seal)	(Corporate Seal)

NOTE: This Bond must be executed by both parties with corporate seal affixed. All signatures must be acknowledged. (Attach acknowledgements).

Payment Bond (Public Works - Civil Code §9550 et seq.)

		<ul><li>onstruction as Principal and Original Contractor and</li><li>, a corporation, authorized to issue Surety Bonds in</li></ul>
California, as Surety, and this Bond is issue executed between Principal and COUNTY (Eight hundred forty five thousand, sever The amount of this bond is one hundred per generally consisting of Whittier Avenue States	ed in c OF R n hundercent Sidew:	conjunction with that certain public works contract to be EIVERSIDE a public entity, as Owner, for \$845,700.00 dred dollars and zero cents), the total amount payable. (100%) of said sum. Said contract is for public work alk and Resurfacing Project, Yale Street to Cornell ect No. C2-0142, C4-0080, Federal Aid No. SRTSL-
this Bond are as is set forth in 9554, 9558, 95	560 an	554 of the Civil Code and requirements and conditions of ad 9564 of said code. Without notice, Surety consents to irements, amount of compensation, or prepayment under
Dated:	-	
		Original Contractor – Principal
		By
Surety	-	
Ву	_	Title
Its Attorney In Fact		(If corporation, affix seal)
(Corporate Seal)		(Corporate Seal)
STATE OFCOUNTY OF	}	ss. SURETY'S ACKNOWLEDGEMENT
On before me,,	knov	personally appeared, vn to me, or proved to me on the basis of satisfactory ed to the within instrument and acknowledged to me that
evidence, to be the person whose name is sub he executed the same in his authorized capaci the entity upon behalf of which the person ac	ities, a	and that by his signature on the instrument the person, or
WITNESS my hand and official seal.		
Signature of Notary Public		Notary Public (Seal)

**NOTE:** This Bond must be executed by both parties with corporate seal affixed. All signatures must be acknowledged. (Attach acknowledgements).

County of Riverside, Transportation and Land Management Agency, Transportation Department

# **Brief List of Contract Insurance Requirements**

Please refer to the section entitled "Insurance and Hold Harmless" of the bid documents, which describes the County's detailed insurance requirements for the specific project. These requirements apply to the prime Contractor and all tiers of sub-contractors working under the Contract.

Insurance requirements are briefly summarized as follows, which must be shown on the Contractor's Certificate of Insurance and endorsements:

## A. General:

- Certificate of Insurance and endorsements must be signed.
- Certificate Holder information is as follows:

County of Riverside Transportation Department Attn: Contracts/Bidding Unit 3525 14<sup>th</sup> Street Riverside, CA 92501

• This policy shall also name the "County of Riverside, its Agencies, Special Districts and Departments, their respective director, officers, Board of Supervisors, elected and appointed officials, employees, agents, and representatives" as Additional Insureds for Workers Compensation, Commercial General Liability, Automobile Liability and any excess liability / umbrella policies listed to meet the contract requirements.

### **B.** Workers Compensation:

• The Contractor shall maintain statutory Workers' Compensation Insurance (Part 1) as prescribed by the laws of the State of California. Policy shall include Employers' Liability (Part 2) including Occupational Disease with limits not less than \$1,000,000 per person per accident. This policy shall be endorsed, and signed, to waive subrogation in favor of the County.

### C. Commercial General Liability:

- Commercial General Liability insurance coverage amounts are not to be less than the following:
  - > \$2,000,000 each occurrence
  - > \$2,000,000 general aggregate
  - > \$2,000,000 products-completed operations aggregate
- Higher limits may be required for projects with higher risk exposure, and higher limits, if required, will be included in the Special Provisions.
- Where excess liability insurance is used in connection with primary liability insurance, the combination of such coverage sum must allow total limits of liability to be in amounts not less than the specified amounts.
- For additional insured endorsement for excess liability insurance, an acceptable alternative to the policies is a letter, signed by an authorized representative of the insurance carrier, confirming in writing that the policy follows form with respect to the primary liability policy.

County of Riverside, Transportation and Land Management Agency, Transportation Department

# **Brief List of Contract Insurance Requirements**

## D. Automobile Liability:

• Contractor shall maintain liability insurance for any auto, all owned, non-owned and hired vehicles so used in an amount not less than \$1,000,000 per occurrence combined single limit. If such insurance contains a general aggregate limit, it shall apply separately to the Contract or be no less than two (2) times the occurrence limit.

### E. General Insurance Provisions:

- *Insurer*. Any insurance carrier providing insurance coverage hereunder shall be admitted to the State of California and have an A M Best rating of not less than A: VIII (A:8)
- Certificate, policy, endorsements and attachments. Contractor shall cause Contractor's insurance carrier(s) to furnish the County with:
  - a. A properly executed original Certificate(s) of Insurance and certified original copies of signed endorsements effecting coverage as required herein, and
  - b. All endorsements must include a reference to the policy by type of insurance and policy number that it is endorsing, and
  - c. If requested to do so by the County Risk Manager, provide original certified copies of policies including all endorsements and all attachments thereto, showing such insurance is in full force and effect.

Further, said Certificate(s) and policies of insurance shall contain the covenant of the insurance carrier(s) that thirty (30) days written notice shall be given to the County prior to any material modification, cancellation, expiration or reduction in coverage of such insurance (For nonpayment of premium cause for cancellation, a written notice of at least ten (10) days is allowed per California Insurance Code §662(a)). In the event of a material modification, cancellation, expiration, or reduction in coverage, the Contract shall terminate forthwith, unless the County receives, prior to such effective date, another properly executed original Certificate of Insurance and original copies of endorsements or certified original policies, including all endorsements and attachments thereto evidencing coverage's set forth herein and the insurance required herein is in full force and effect.

Contractor shall not commence operations until the County has been furnished original Certificate (s) of Insurance and certified original copies of endorsements and if requested, certified original policies of insurance including all endorsements and any and all other attachments as required.

	1						2000	
Summar	Riverside County In Summary of Bids	Riverside County Transportation Department Summary of Bids		PROJECT: 1	Whittier Avenue Sig	dewalk and Resurfa	PROJECT: Whittier Avenue Sidewalk and Resurfacing Project, Yale Street to	treet to
Advertised	i: March 11, 20	Advertised: March 11, 2014 (Agenda Item: 3-40)	,	Cornell Stre	Cornell Street, in the Community of East Hemet	ty of East Hemet		
Addenda: 1(3/2( Bids Open: 2 pm	⋛	4) Date: Wednesdav, April 2, 2014		M TOSI COO	20040 04000	0,0000		
	1			N CORL	0. CZ-0144, C4-008	TROJECT NO. CZ-0142, C4-0080, SKISL-5956(Z12)		
					COUNTY'S ESTIMATE	ESTIMATE	R-JS General Construction	truction
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	OUANTITY	UNIT PRICE	FNC ESTIMATE	RIVERSIDE, CA 92309	-
-	066102	DUST ABATEMENT	S	-	4 000 00	A DOOD	BID UNIT PRICE	BID ESTIMATE
2	074020	WATER POLLUTION CONTROL	S.	-	3,000.00	3,000.00	3.500.00	3,500,00
ဗ	120100	TRAFFIC CONTROL SYSTEM	S	-	8,000.00	8,000.00	6.000.00	00.000,0
4	170101	DEVELOP WATER SUPPLY	rs	-	5,000.00	5,000,00	2,800.00	2,800,00
5	160101	CLEARING AND GRUBBING	S	-	15,000.00	15,000.00	8,000.00	8,000.00
ဖ ၊	152370	RELOCATE MAILBOX	ā	24	250.00	6,000.00	80.00	1,920.00
_	152379	RELOCATE FENCE AND GATE	<u>"</u>	566	25.00	6,650.00	35.00	9,310.00
oo o	152381	RELOCATE GATE	Ą	7	1,000.00	2,000.00	350.00	700.00
n (	152390	RELUCATE ROADSIDE SIGN	Ð	4	150.00	2,100.00	275.00	3,850.00
₽;	152440	ADJUST MANHOLE TO GRADE	Ą	9	200.00	5,000.00	850.00	8,500.00
= \$	160120	KEMOVE TRIE	Ą	···	3,000.00	18,000.00	500.00	3,000.00
<u> </u>	193103	COLD PLANE ASPHALI CONCRETE PAVEMENT	SQYD	14,130	3.00	42,390.00	4.00	56,520.00
2 ;	190101	ROADWAY EXCAVATION	<u></u>	210	20.00	10,500.00	35.00	7,350.00
<u>4</u> ;	260201	CLASS 2 AGGREGATE BASE	≿	150	20.00	7,500.00	20.00	7,500.00
£ .	390130	HOT MIX ASPHALT	NO NO	2,500	75.00	187,500.00	95.00	237,500.00
ē i	013903	PLACE ASPHALT CONCRETE DIKE (CRS 212) (6")	5	220	25.00	13,750.00	9.00	4,950.00
11	394002	PLACE ASPHALT CONCRETE (MISCELLANEOUS AREA)	SQYD	04	10.00	400.00	20.00	800.00
<del>.</del>	017305	MINOR CONCRETE (CURB AND GUTTER) (CRS 201)	5	2,320	15.00	34,800.00	35.00	81,200.00
9 (	017310	MINOR CONCRETE (DRIVEWAY APPROACH) (CRS 207)	SQFT	3,900	10.00	39,000.00	8.00	31,200.00
20 7	731516	MINOR CONCRETE (DRIVEWAY)	SQFT	3,000	10.00	30,000.00	6.00	18,000.00
5 8	017302	MINOR CONCRETE (CROSS-GUTTER) (CRS 209)	SOFT	6,400	8.00	51,200.00	5.50	35,200.00
3 %	734524	MINOR CONCRETE (STANDREL) (CRS 209)	SOFT	5,400	8.00	43,200.00	5.50	29,700.00
24 25	731502	MINOR CONCRETE (SIDEWALK)	F F C S	8,400	7.00	58,800.00	4.50	37,800.00
25	731501	MINOR CONCRETE (MONOLITHIC CURB AT BACK OF WALK)	<u></u> ш	1400	10.00	2,000.00	4.50	00.006
56	017315	MINOR CONCRETE (CURB RAMP) (CRS 403 - CASE A)	i <u>1</u>	2	3 500 00	9,900,00	9.00	12,600.00
27	017316	MINOR CONCRETE (CURB RAMP) (CRS 403 - CASE B)	Æ	6	2.500.00	22.500.00	1 450 00	13 050 00
28	731623	MINOR CONCRETE (CURB RAMP) (APWA 111-4 CASE D, TYPE 1)	A	80	1,500.00	12.000.00	1 200 00	00.000,01
59	731656	CURB RAMP DETECTABLE WARNING SURFACE	ā	2	200.00	2,500.00		3.250.00
30	719530	PRIVATE DRAIN THROUGH CURB (CRS 310)	Ē	2	250.00	200.00		100.00
31	840519	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	S	-	5,000.00	5,000.00	8,500.00	8,500.00
32	015602	FUNDING AWARENESS SIGN	Ā	4	1,000.00	4,000.00	1,500.00	6,000.00
33	760090	MOBILIZATION, DEMOBILIZATION, AND FINAL CLEANUP	S	-	40,000.00	40,000.00	20,000.00	20,000.00
34	390137	RUBBERIZED HOT MIX ASPHALT (GAP GRADED)	TON	1,800	80.00	144,000.00	95.00	171,000.00
		PROJECT TOTAL						
Hier Ave Cid	Jewell and Deam					843,090.00		845,700.00

Whittier Ave. Sidewalk and Resurfacing: Summary Web Updated: 4/2/14

dvertise	4. Banna 1. 44. 004			10 11 27				
	d: March 11, 201	Advertised: March 11, 2014 (Agenda Item: 3-40)		cornell Str	set, in the Communit	Cornell Street, in the Community of East Hemet		
Addenda: 1(3/20 Bids Open: 2 pm	5	Madanahan A I A I A						
ado en	1	Date: wednesday, April 2, 2014		PROJECTI	PROJECT No. C2-0142, C4-0080, SRTSL-5956(212)	o, SRTSL-5956(212	-	
					All American Asphalt	#	Hardy & Harper, Inc.	
	Г			ļ	Corona, CA 92878		Santa Ana, CA 92705	5
I EM NO.	E L	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
- (	066102	DUST ABA EMENT	S	-	2,500.00	2,500.00	7,000.00	7,000.00
7 (	074020	WALER POLLUTION CONTROL	S	-	2,500.00	2,500.00	5,000.00	5,000.00
m ·	120100	TRAFFIC CONTROL SYSTEM	S	-	16,000.00	16,000.00	36,000.00	36,000.00
4	170101	DEVELOP WATER SUPPLY	rs	-	510.00	510.00	7,000,00	7,000.00
ς,	160101	CLEARING AND GRUBBING	rs	-	15,000.00	15,000.00		24,000.00
φ	152370	RELOCATE MAILBOX	ā	24	300.00	7,200.00		4,800.00
7	152379	RELOCATE FENCE AND GATE	5	266	25.00	6,650.00		7,980.00
œ	152381	RELOCATE GATE	ā	2	1,100.00	2,200.00	7	3,000,00
6	152390	RELOCATE ROADSIDE SIGN	æ	4	125.00	1,750.00		2,800.00
9	152440	ADJUST MANHOLE TO GRADE	Щ	9	650.00	6,500.00	900.006	00'000'6
=	160120	REMOVE TREE	ā	9	1,400.00	8,400.00	1,300.00	7.800.00
12	153103	COLD PLANE ASPHALT CONCRETE PAVEMENT	SQYD	14,130	1.20	16,956.00	3.11	43,944,30
13	190101	ROADWAY EXCAVATION	Շ	210	40.00	8,400.00	48.00	10,080,00
4	260201	CLASS 2 AGGREGATE BASE	Շ	150	40.00	6,000.00	48.00	7,200.00
15	390130	HOT MIX ASPHALT	TON	2,500	72.00	180,000.00	72.50	181,250.00
16	013903	PLACE ASPHALT CONCRETE DIKE (CRS 212) (6")	<u>"</u>	550	14.00	7,700.00	8.76	4,818.00
17	394002	PLACE ASPHALT CONCRETE (MISCELLANEOUS AREA)	SQYD	40	54.00	2,160.00	63.00	2,520.00
18	017305	MINOR CONCRETE (CURB AND GUTTER) (CRS 201)	4	2,320	28.00	64,960.00	30.00	00.009,69
19	017310	MINOR CONCRETE (DRIVEWAY APPROACH) (CRS 207)	SQFT	3,900	7.00	27,300.00	7.11	27,729.00
50	731516	MINOR CONCRETE (DRIVEWAY)	SOFT	3,000	7.00	21,000.00	7.11	21,330.00
21	017302	MINOR CONCRETE (CROSS-GUTTER) (CRS 209)	SQFT	6,400	13.00	83,200.00	11.50	73,600.00
22	017303	MINOR CONCRETE (SPANDREL) (CRS 209)	SQFT	5,400	13.00	70,200.00	11.50	62,100.00
23	731521	MINOR CONCRETE (SIDEWALK)	SQFT	8,400	5.50	46,200.00	4.85	40,740.00
54	731502	MINOR CONCRETE (MISCELLANEOUS CONSTRUCTION)	SQFT	200	5.50	1,100.00	10.00	2,000.00
52	731501	MINOR CONCRETE (MONOLITHIC CURB AT BACK OF WALK)	5	1,400	8.00	11,200.00	14.00	19,600.00
56	017315	MINOR CONCRETE (CURB RAMP) (CRS 403 - CASE A)	EA	7	2,400.00	4,800.00	2,100.00	4,200.00
27	017316	MINOR CONCRETE (CURB RAMP) (CRS 403 - CASE B)	Ą	6	2,400.00	21,600.00	2,100.00	18,900.00
28	731623	MINOR CONCRETE (CURB RAMP) (APWA 111-4 CASE D, TYPE 1)	Æ	80	2,400.00	19,200.00	2,100.00	16,800.00
59	731656	CURB RAMP DETECTABLE WARNING SURFACE	ā	S	400.00	2,000.00	900.00	2,500.00
90	719530	PRIVATE DRAIN THROUGH CURB (CRS 310)	ā	2	225.00	450.00	200.00	1,000.00
31	840519	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	ST	-	5,000.00	5,000.00	10,908.70	10,908.70
32	015602	FUNDING AWARENESS SIGN	Æ	4	725.00	2,900.00	750.00	3,000.00
33	760090	MOBILIZATION, DEMOBILIZATION, AND FINAL CLEANUP	rs	-	72,562.00	72,562.00	36,000.00	36,000.00
34	390137	RUBBERIZED HOT MIX ASPHALT (GAP GRADED)	TON	1,800	86.00	154,800.00	86.00	154,800.00
		PROJECT TOTAL						

Director	County T	Divoride County Tanana Later						
Summar	Summary of Bids	ansportation Department	Δ.	ROJECT:	Whittier Avenue Sid	ewalk and Resurfa	PROJECT: Whittier Avenue Sidewalk and Resurfacing Project, Yale Street to	itreet to
Advertised	i: March 11, 201	Advertised: March 11, 2014 (Agenda Item: 3-40)	O	ornell Str	Cornell Street, in the Community of East Hemet	y of East Hemet		
Addenda: 1(3/20	Ξ	My discontant April 9 9044	1		,			
200	1	Date, Wednesday, April 2, 2014	1	KOJECT	PRUJECT No. C2-0142, C4-0080, SRTSL-5956(212)	, SRTSL-5956(212	L.	
				-	Roadway Engineering & Cont. Inc.	ng & Cont. Inc.	CLS Constructors, Inc.	Inc.
					Mira Loma, CA 91752	7	Grand Terrace, CA 92313	92313
ITEM NO.	ITEM CODE	CONTRACTITEM	NITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
-	066102	DUST ABATEMENT	ST	-	3,200.00	3,200.00	6,599.00	6.599.00
7	074020	WATER POLLUTION CONTROL	rs	_	00'000'6	00.000,6	4,999.00	4,999.00
ю —	120100	TRAFFIC CONTROL SYSTEM	S	-	16,000.00	16,000.00	10,999.00	10,999,00
4	170101	DEVELOP WATER SUPPLY	ST	-	2,000.00	2,000.00	4,800.00	4,800.00
2	160101	CLEARING AND GRUBBING	rs	-	125,000.00	125,000.00	78,390.00	78,390.00
9	152370	RELOCATE MAILBOX	ā	24	190.00	4,560.00	300.00	7,200.00
	152379	RELOCATE FENCE AND GATE	5	592	23.00	6,118.00	28.00	7,448.00
80	152381	RELOCATE GATE	EA	2	520.00	1,040.00	995.00	1,990.00
<b>ග</b> ්	152390	RELOCATE ROADSIDE SIGN	Ę	14	175.00	2,450.00	550.00	7,700.00
9 :	152440	ADJUST MANHOLE TO GRADE	Ą	5	750.00	7,500.00	800.00	8,000.00
Ę.	160120	REMOVE TREE	ā	9	1,150.00	6,900.00	800.00	4,800.00
12	153103	COLD PLANE ASPHALT CONCRETE PAVEMENT	SQYD	14,130	3.80	53,694.00	8.25	116,572.50
13	190101	ROADWAY EXCAVATION	≿	210	105.00	22,050.00	95.00	19,950.00
4	260201	CLASS 2 AGGREGATE BASE	≿	150	145.00	21,750.00	37.00	5,550.00
	390130	HOT MIX ASPHALT	NOT	2,500	76.00	190,000.00	88.00	220,000.00
16	013903	PLACE ASPHALT CONCRETE DIKE (CRS 212) (6")	<u>"</u>	220	11.30	6,215.00	13.25	7,287.50
17	394002	PLACE ASPHALT CONCRETE (MISCELLANEOUS AREA)	SQYD	40	70.00	2,800.00	80.00	3,200.00
18	017305	MINOR CONCRETE (CURB AND GUTTER) (CRS 201)	<u>"</u>	2,320	18.40	42,688.00	16.75	38,860.00
19	017310	MINOR CONCRETE (DRIVEWAY APPROACH) (CRS 207)	SQFI	3,900	00.9	23,400.00	4.98	19,422.00
23	731516	MINOR CONCRETE (DRIVEWAY)	SQFT	3,000	7.30	21,900.00	4.25	12,750.00
21	017302	MINOR CONCRETE (CROSS-GUTTER) (CRS 209)	SQFT	6,400	7.50	48,000.00	7.95	50,880.00
23	017303	MINOR CONCRETE (SPANDREL) (CRS 209)	SQFT	5,400	7.50	40,500.00	7.95	42,930.00
5 3	731521	MINOR CONCRETE (SIDEWALK)	SQFT	8,400	4.10	34,440.00	3.15	26,460.00
54	731502	MINOR CONCRETE (MISCELLANEOUS CONSTRUCTION)	SOFT	200	10.30	2,060.00	4.00	800.00
5 29	731501	MINOR CONCRETE (MONOLITHIC CURB AT BACK OF WALK)	5	1,400	12.00	16,800.00	12.00	16,800.00
9, I	01/315	MINOR CONCRETE (CURB RAMP) (CRS 403 - CASE A)	<b>₩</b>	7	2,760.00	5,520.00	2,090.00	4,180.00
27	017316	MINOR CONCRETE (CURB RAMP) (CRS 403 - CASE B)	<u>a</u>	6	2,700.00	24,300.00	2,000.00	18,000.00
58	731623	MINOR CONCRETE (CURB RAMP) (APWA 111-4 CASE D, TYPE 1)	Æ	80	2,700.00	21,600.00	2,000.00	16,000.00
53	731656	CURB RAMP DETECTABLE WARNING SURFACE	<b>∆</b>	2	1,000.00	5,000.00	00.009	3,000.00
8	719530	PRIVATE DRAIN THROUGH CURB (CRS 310)	<b>∆</b>	7	200.00	400.00	00.009	1,200.00
31	840519	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	S	-	8,700.00	8,700.00	12,900.00	12,900.00
32	015602	FUNDING AWARENESS SIGN	<u>—</u>	4	850.00	3,400.00	880.00	3,520.00
83	760090	MOBILIZATION, DEMOBILIZATION, AND FINAL CLEANUP	S	-	29,500.00	29,500.00	20,000.00	20,000.00
g	390137	RUBBERIZED HOT MIX ASPHALT (GAP GRADED)	TON	1,800	100.00	180,000.00	110.00	198,000.00
		PROJECT TOTAL		-				:
Whittier Ave Sig	I and Decident	ILEMO I - CA				988,485.00		1,001,187.00

Whittier Ave. Sidewalk and Resurfacing: Summary Web Updated: 4/2/14